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The final exam in advanced econometiics

Mention three types of nonlinear regression, choose one type and explain how to
estimate the mathematical model using the ordinary least squares method.

Question2:

Mention the steps to estimate an econometric model.

Question3: Observe the following table of Linear Regression Analysis and answer

the questions:

Table 01: the regression model

Dependent Variable: Y
Included observations; 47

Variable Coefficient Std. Error t-Statistic Prob.
Cc 0,219 0.05 0.0001
). S L P X 0.02 -1.97 0.0247
X2 0.60 -0.14 0.0156
X3 0.0063 0.015 0.3720
F-statistic 520.4 R-squared 0.75
Prob(F-statistic) 0.04 - Durbin-Watson stat 1.22

The questions:
Complete the table.
Write the regression equation. ’ .
Interpret the coefficient of determination, and the significance of the model.
Does the model contain econometrics problems? Justify your answer and
what solutions do you suggest? i i

BN

Questiond: make a statistical analysis for each index:

R-squared: 0,80
R=-0,75
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